4T/6 F A4T/6
20 20
+ 18
+ 16
15 E
+ 14
-
10
sk
%
5T/6 3 5T/6
20 20
15 15
-
10
L O
sl
ol v v vy P e e e e e e e e e
0 5 10 15 20 0 5 10 15 20
X X
6T/6 F 6T/6
20 20
- 18F
+ 16
15 F
F 14F
12F
> > I
10 10
O ;
sk s‘__,"
-0
0 Ll [ 1 L
0 5 10 15 20

Figure 6-24. Time evolution of instantaneous flow within a period T (Uniform free stream;
Re=300)
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Figure 6-25. Time evolution of instantaneous flow within a period T (Uniform free stream;

Re=400) Continue...
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Figure 6-25. Time evolution of instantaneous flow within a period T (Uniform free stream;
Re=400)
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Figure 6-26. Time evolution of instantaneous flow within a period T (Shear free stream;
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Velocity ratio 3:1; L1=6; Re=100) Continue...
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Figure 6-26. Time evolution of instantaneous flow within a period T (Shear free stream;

Velocity ratio 3:1; L1=6; Re=100)
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Figure 6-27. Time evolution of instantaneous flow within a period T (Shear free stream;
\elocity ratio 3:1; L1=6; Re=200) Continue...
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